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NEAL K 4 ouT I N A= S ESAN
41 | PREESELE 48 53 101 12.0 89. 0
42 | EHER 50 53 103 14.0 89.0
43 | B 48 46 94 4.0 90. 0
44 | FPFA 50 46 96 6.0 90.0
45 | BRFAA 48 51 99 9.0 90. 0
46 | FEHIRE 47 55 102 12.0 90. 0
47 | RS 54 53 107 17.0 90. 0
48 | HEFHE 52 57 109 19.0 90. 0
49 | BiEFRZ 47 50 97 6.0 91.0
50 | JIEY 50 54 104 13.0 91.0
51 | RBvagEsE 51 56 107 16.0 91.0
52 | EAGRIE 53 47 100 8.0 92.0
53 | PEHER 51 51 102 10.0 92.0
54 | He 48 55 103 9.0 94.0
55 | FRFIAS— 57 57 114 19.0 95. 0
56 | FHH-—f# 61 56 117 22.0 95. 0
57 | HPEHETKRR 56 55 111 11.0 100. 0
58 | NnpkkE— 57 60 117 17.0 100. 0
59 | BRI 54 61 115 14.0 101.0
60 | 5L 59 61 120 19.0 101.0
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LML= S EERA = SRR =

NEAE K 4 ouT I N V=0 SN Xk
1 T E & 45 50 95 21.0 74.0
2 KKNE 43 41 84 7.0 77.0
3 BHERfER 44 41 85 8.0 77.0
4 | B FFE 44 46 90 13.0 77.0
5 M 51 45 96 19.0 77.0
6 EPHHEESE 42 46 88 10.0 78.0
7 FWEAFHE 47 48 95 17.0 78.0
8  HMRIEE 47 42 89 10.0 79.0
9  WRHETR 51 52 103 24.0 79.0
10 HH—K 42 44 86 6.0 80. 0
11 | /NPEIER 49 41 90 10.0 80. 0
12 JI&HET 49 53 102 22.0 80. 0
13 | (L 44 42 86 5.0 81.0
14 | fEARFNZE 45 44 89 8.0 81.0
15 | PHER 44 47 91 10.0 81.0
16 | )18 ARRR 44 47 91 9.0 82.0
17 Hfp=— 45 48 93 11.0 82.0
18 | HiEEM 46 47 93 10.0 83.0
19 FE)%= 47 45 92 8.0 84.0
20 MrHiEE 46 46 92 8.0 84.0
21 | FEFEHE 48 48 96 12.0 84.0
22 KEKRL 50 47 97 13.0 84. 0
23 TOJIHEE 47 51 98 14.0 84.0
24 FHEET 44 50 94 9.0 85.0
25 HFEgESC 46 48 94 9.0 85.0
26 | B FH s 50 47 97 12.0 85.0
27 | RAARLEEL 48 51 99 14.0 85. 0
28 | i 50 54 104 19.0 85.0
29  EARFH 52 47 99 13.0 86. 0
30 EUEFETE 50 49 99 13.0 86. 0
31 HRE= 50 50 100 14.0 86. 0
32 | M A 53 52 105 19.0 86.0
33 OKRAR[EH 49 46 95 8.0 87.0
34 JIFZER 54 52 106 19.0 87.0
35 HARTH 46 47 93 5.0 88.0
36 | ik 51 46 97 9.0 88.0
37 PEFEE 43 55 98 10.0 88.0
38 | 74l ZRIE 46 48 94 5.0 89.0
39 | A= 51 48 99 10.0 89.0
40 | AR 47 52 99 10.0 89.0
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